
S

S

S H

S

10' - 6"1' - 3"1' - 3"1' - 3"1' - 3"2' - 6"

2
' 
- 

6
"

1
' 
- 

7
"

6
"

2
' 
- 

1
1

"

1
' 
- 

8
"

2
' 
- 

5
"

6
"

2
' 
- 

1
1

"

1' - 3" 1' - 3" 1' - 3" 1' - 3" 1' - 3" 1' - 3"

KNEE SPACE

6

A401

5

A401

7

A401

ICE MAKER
N.I.C

TRAINING

106

06 41 13.B1

06 41 13.B1

06 41 13.A1, 1/2"
DRAWER SIDES

06 41 13.A4, 3/4"
DRAWER FACE
W/ 06 41 13.A1
ALL AROUND

06 10 53.A
BASE FRAME

06 41 13.A4, 3/4"
CABINET BOTTOM

06 41 13.A1, FRAME

06 41 13.A4, 1/4"

06 41 13.A1, 3/4"
FACE FRAME

WALL BASE

06 41 13.A4, 3/4"
CABINET DOOR
W/ 06 41 13.A1
ALL AROUND

06 41 13.A1, 3/4"
FACE FRAME

06 41 13.A4, 3/4"
CABINET SIDE (BEYOND)

06 41 13.A4, 1/4"

06 41 13.A1, 3/4"

06 41 13.A4, 3/4"
CABINET TOP

06 41 13.A4, 3/4"
CABINET BOTTOM

06 41 13.A1, 3/4"
FACE FRAME

06 41 13.A1, 3/4"
FACE FRAME

06 41 13.A4, 3/4"
CABINET SIDE (BEYOND)

06 41 13.A1, 3/4"
FACE FRAME (BEYOND)

06 41 13.B3 (BEYOND)

06 41 13.A4, 3/4"
CABINET DOOR &
ADJUSTABLE SHELVES
W/ 06 41 13.A1, 3/4"
ALL AROUND

06 41 13.A6, 3/4"
ENDSPLASH (BEYOND)
SEE ELEVATIONS

06 41 13.A6, 3/4"
BACKSPLASH

06 41 13.A6, 3/4"
COUNTERTOP

CABINET FACE: WOOD VENEER

COUNTERTOP : PLASTIC LAMINATE STYLE :  SEE SPECIFICATIONS

CONSTRUCTION :  FRAME FACE

06 41 13.A1, 3/4"
FACE FRAME

2' - 0"

2"

1 
1/

4"

5"
2"

3"

2"
3 

1/
2"

2'
 -

 6
"

1'
 -

 7
"

2'
 -

 1
1"

2"
2"

1' - 0"

1/2" DIA. RODS, EPOXIED
W/ EPOXY SCREENS @ 48"O.C.
THROUGH CONT. C3

SEE PLUMBING DRAWINGS

05 50 00.H ,STEEL FRAMING
C 3 X 4.1 ALL AROUND.
MITER CORNERS, WELD
AND GROUND SMOOTH.
PAINTED BLACK.

WALL BASE (BEYOND)

CABINET SIDE
06 41 13.A4, 3/4"
(BEYOND)

APRON RAIL
06 41 13.A4, 3/4"
WITH 06 41 13.A1
ALL AROUND

06 41 13.A6, 3/4"
INTEGRAL SINK

06 41 13.A6, 3/4"
BACKSPLASH

COUNTERTOP
06 41 13.A6, 3/4"

FACE TRIM
06 41 13.A1, 3/4"

CABINET FACE: WOOD VENEER CONSTRUCTION :  FRAME FACE

REVEAL :  SEE SPECIFICATIONSCOUNTERTOP : SOLID SURFACE

NOTE:
THE MAXIMUM SPAN OF C3 X 4.1 IS 7'-4". LONGER COUNTERS REQUIRE
BRACKET (C4 X 7.2 WELDED TO STEEL PLATE) AS SHOWN ON DETAIL.
ALSO, PROVIDE BRACKETS FOR COUNTERS WITHOUT KNEE WALL(S).
FOR LOCATION REFER TO COUNTER ELEVATION(S).

M
IN

. 1
'-0

"

MIN. 8"

M
IN

. 2
'-0

"
6"

4"

2'
 -

 1
1"

2'
 -

 5
"

1'
 -

 8
"

ENDSPLASH
06 41 13.A6, 3/4"
(BEYOND)

2' - 0"

CABINET DOOR
06 41 13.A4, 3/4"
W/ 06 41 13.A1, 3/4"
ALL AROUND

06 41 13.B106 41 13.A4, 3/4"
CABINET SIDE (BEYOND) 06 41 13.A1, 3/4"

FACE FRAME (BEYOND)
CABINET BOTTOM
06 41 13.A4, 3/4"

06 41 13.A1, 3/4
FRAME FACE

06 41 13.A4, 1/4"

06 41 13.A1, 3/4"

CABINET TOP
06 41 13.A4, 3/4"

06 41 13.A1, 3/4"
FACE FRAME

2"
2"

1' - 0"

06 41 13.B1

06 41 13.A4, 1/4"

06 41 13.A1, 3/4"
FACE FRAME (BEYOND)

CABINET FACE: WOOD VENEER

COUNTERTOP : PLASTIC LAMINATE STYLE :  SEE SPECIFICATIONS

CONSTRUCTION :  FRAME FACE

1' - 0"

2"

2'
 -

 1
1"

1'
 -

 7
"

2'
 -

 6
"

2"

2' - 0"

2"
4"

3"

4"
2"

06 10 53.A
BASE FRAME

06 41 13.A4, 3/4"
CABINET BOTTOM

06 41 13.A4, 3/4"
CABINET SIDE (BEYOND)

06 41 13.B3 (BEYOND)

06 41 13.A1, FRAME

06 41 13.A1, 3/4"
FACE FRAME

06 41 13.A6, 3/4"
ENDSPLASH (BEYOND)
SEE ELEVATIONS

06 41 13.A6, 3/4"
BACKSPLASH

WALL BASE

06 41 13.A1, 3/4"
FACE FRAME

06 41 13.A4, 3/4"
CABINET DOOR
W/ 06 41 13.A1
ALL AROUND

06 41 13.A6, 3/4"
COUNTERTOP

06 41 13.B1

06 41 13.A4, 1/4"

06 41 13.A1, 3/4"

06 41 13.A4, 3/4"
CABINET TOP

06 41 13.A4, 3/4"
CABINET BOTTOM

06 41 13.A1, 3/4"
FACE FRAME

06 41 13.A1, 3/4"
FACE FRAME

06 41 13.A4, 3/4"
CABINET SIDE (BEYOND)

06 41 13.A1, 3/4"
FACE FRAME (BEYOND)

06 41 13.B3 (BEYOND)

06 41 13.A4, 3/4"
CABINET DOOR &
ADJUSTABLE SHELVES
W/ 06 41 13.A1, 3/4"
ALL AROUND

1
' 
- 

0
"

3
' 
- 

0
"

3' - 0" 6"

1' - 6"

3
' 
- 

0
"

7
"

1' - 2" 5' - 6" 6" 3' - 0" 4"8" 8" 7' - 4" 8"

2' - 8"

2
' 
- 

8
"

4
"8

"
8

"
5

' 
- 

6
"

6
"

6
' 
- 

5
"

6
"

9
"
4

"
2

' 
- 

8
"

4
"

2
' 
- 

0
"

6
"

1
0

' 
- 

6
"

1
' 
- 

2
"

1' - 7"

5
' 
- 

0
"

8
"

8
' 
- 

4
"

2
' 
- 

0
"

1
' 
- 

8
"

5
' 
- 

4
"

8
"

6
' 
- 

4
"

1
' 
- 

8
"

1
' 
- 

2
"

1' - 6"

6"

1' - 3"1' - 3"

6"

1' - 7" 3' - 5"

3' - 0" 6"

1
' 
- 

0
"

3
' 
- 

0
" 7

"
3

' 
- 

0
"

1' - 2" 8' - 0" 8" 9' - 4" 1' - 2"

4' - 0" 6" 5' - 0" 6" 8' - 0" 8"

10 28 00. C

10 28 00. C
TTD

10 28 00. E

SLOPE FLOOR
1/4" TO

DRAIN, TYP.

SLOPE FLOOR
1/4" TO

DRAIN, TYP.

SD

TTD

SD

10 28 00. E

COACHES

LOCKER

102

4
"

2
' 
- 

8
"

TOILET/SHOWER

112

MECH

113

VARSITY

LOCKER

111

1
1
2
a

112b 112c

112d

113a

3' - 7" 3' - 10" 1' - 6" 2' - 4" 2' - 6" 2' - 6" 2' - 6" 2' - 6" 2' - 6" 2' - 4"

7' - 0" 1' - 0" 6" 8" 3' - 4" 6" 3' - 0" 6" 3' - 0" 6" 3' - 0" 6" 3' - 0" 6" 3' - 0"

8
"

8
"

4
"

6
' 
- 

0
"

6
"

9
' 
- 

2
"

4
"

8
"

1
' 
- 

2
"

3' - 0" 1' - 0"

6
"

3
' 
- 

0
"

3
' 
- 

0
"

7
"

1' - 6" 2' - 6" 2' - 6" 1' - 6"

2' - 9" 2' - 6" 2' - 9"

10 28 00. C

TTD

10 28 00. E

SLOPE FLOOR
1/4" TO

DRAIN, TYP.

SD

10 28 00. E

TTD TTD

SD

8" 5' - 4" 6" 3' - 6" 6" 3' - 0" 8" 16' - 6" 1' - 2"

1
' 
- 

2
"

6
' 
- 

0
"

4
"

8
"

8
"

6
' 
- 

0
"

3
' 
- 

0
"

4
"

8
"

1
' 
- 

2
"

4
"

5
' 
- 

4
"

6
"

4/A401

1' - 2" 7' - 6" 10' - 6" 8"

ICE
MAKER

N.I.C

1
' 
- 

2
"

8
"

4
"

1
2

' -
 1

1
"

2
' 
- 

1
"

4
"8

"
8

"

SLOPE FLOOR
1/4" TO

DRAIN, TYP.

1
0
6
a

1' - 2" 18' - 0" 8"

2'
 -

 9
"

3' - 0"

CONTROL 
AREA

SEE PLUMBING

10 28 00
GRAB BARS

ADJUSTABLE
SHOWER HEAD

W/ HOOKS
SEE PLUMBING

SHOWER 
HEAD SEE 
PLUMBING 

09 91 23
EPOXY

PAINTED C.M.U.

FLOOR & BASE
FINISH

CONTROL WALL

REFER TO FLOOR PLAN FOR DRAIN LOCATION.SLOPE SHOWER FLOOR TO DRAIN.
REFER TO FINISH SCHEDULE AND SPECIFICATIONS FOR SHOWER FLOOR AND BASE FINISH.

BACK WALL

FLOOR & BASE
FINISH

SEAT WALL

10 28 00
GRAB BARS

10 28 00
SHOWER

SEAT

09 91 23
EPOXY

PAINTED C.M.U.

3' - 0"

1' - 6"

3' - 0"

1'
 -

 6
"

1'
 -

 3
"

1'
 -

 6
"

6'
 -

 3
"

3"
5'

 -
 2

"
10

"
1'

 -
 0

"
4'

 -
 1

0"

1" 1"

2"
6"

1'
 -

 4
"

1'
 -

 4
"

1'
 -

 4
"

6"

TYPICAL ANCHOR BOLT
LAYOUT AT DOOR FRAME

FLOOR BASE
SEE FINISH SCHEDULE

TOILET STALL DOOR
SEE DOOR SCHEDULE

TWO-PIECE TOILET STALL
DOOR FRAME AND JAMB.

04 20 00.B, 6", 3" CAP
CUT DOUBLE BULLNOSE
CONCRETE BLOCK
PROVIDE BULLNOSE
EDGE ALL AROUND

TYPICAL TOILET STALL ELEVATION AT JAMB

3/4" = 1'-0" E

04 20 00.B, 6", 3" CAP
CUT DOUBLE BULLNOSE
CONCRETE BLOCK.
PROVIDE BULLNOSE
EDGE ALL AROUND

04 20 00.B, 6" R 8"
(SEE PLAN)
FILL ALL CELLS
WITH GROUT

03 30 00.B, 1 - #4 BAR
IN EACH CELL

03 30 00.B
#4 DOWELS 30" LONG,
DRILL AND EPOXY
INTO FLOOR SLAB

09 65 19 RESILIENT TILE
COORDINATE FLOOR FINISH
WITH FINISH SCHEDULE AND
REQUIRED FLOOR DEPRESSION
WITH STRUCTURAL PLANS

04 20 00.B
FOR PROPER
COURSING OF BLOCK
START PARTITION
W/ CUT BLOCK WHEN
FLOOR DEPRESSION IS
REQUIRED

03 30 00.A

2' - 2"

4"
4"

3"
6'

 -
 0

"
2"

TYPICAL TOILET STALL SECTION

3/4" = 1'-0" F

C C CE

D B

TYP
.

F

TYP
.

6" 2' - 6" 6" 2' - 6" 6" 5' - 6" 8 15/32"

REGULAR STALL REGULAR STALL HANDICAP STALL

TOILET STALL DOOR
2'-0" X 4'-10" X 1 3/4"
SEE DOOR SCHEDULE

TOILET STALL DOOR
2'-0" X 4'-10" X 1 3/4"
SEE DOOR SCHEDULE 04 20 00.B, 8"

FILL ALL CELLS
IN TOILET PARTITIONS
WITH GROUT
(TYPICAL)

03 30 00.B, #4
EMBED IN THICKENED SLAB
AND CONT. TO CAP (TYPICAL)
SEE ALSO THICKENED SLAB
DETAIL ON THIS SHEET

FILL MIN. 3 CELLS AROUND JAMB
W/ GROUT FULL HEIGHT OF WALL

TOILET STALL DOOR
3'-0" X 4'-10" X 1 3/4"
SEE DOOR SCHEDULE

TYPICAL TOILET STALL PLAN

3/4" = 1'-0"

7
'-
4
" 

(S
E

E
 A

L
S

O
 F

L
O

O
R

 P
L
A

N
)

6
'-
0
" 

(S
E

E
 A

L
S

O
 F

L
O

O
R

 P
L
A

N
)

2"1"2"
1 1/2"

2"
4 

3/
4"

2"1"

2"
4 

3/
4"

1"2"

FILL ALL CELLS WITH GROUT

03 30 00.B, #4

3/8" ANCHOR BOLTS
STAGGER LOCATIONS
WITHIN MASONRY
COURSING AS SHOWN
ON TYPICAL ANCHOR
BOLT LAYOUT THIS SHEET

08 11 13 - TWO-PIECE GALVANIZED,
PRIMED AND FIELD PAINTED
HOLLOW METAL FRAME. BOLT
FIRST PIECE TO MASONRY AND
ATTACH SECOND PIECE WITH
#6 S.M. SCREWS AT MAX. 12" O.C.
AS SHOWN ON DETAIL.
FILL FRAME WITH GROUT.

WOOD SHIM - 1/4" MIN.

07 92 00 (EACH SIDE)
NOTE: ALL SHOWN DIMENSIONS ARE CRITICAL NOTE: ALL SHOWN DIMENSIONS ARE CRITICAL

NOTE: ALL SHOWN DIMENSIONS ARE CRITICAL NOTE: ALL SHOWN DIMENSIONS ARE CRITICAL

07 92 00 (EACH SIDE)

WOOD SHIM - 1/4" MIN.

08 11 13 - TWO-PIECE GALVANIZED,
PRIMED AND FIELD PAINTED
HOLLOW METAL FRAME. BOLT
FIRST PIECE TO MASONRY AND
ATTACH SECOND PIECE WITH
#6 S.M. SCREWS AT MAX. 12" O.C.
AS SHOWN ON DETAIL.
FILL FRAME WITH GROUT.

3/8" ANCHOR BOLTS
STAGGER LOCATIONS
WITHIN MASONRY
COURSING AS SHOWN
ON TYPICAL ANCHOR
BOLT LAYOUT THIS SHEET

FILL 3 CELLS AROUND 
JAMB WITH GROUT

3/8" ANCHOR BOLTS
STAGGER LOCATIONS
WITHIN MASONRY
COURSING AS SHOWN
ON TYPICAL ANCHOR
BOLT LAYOUT THIS SHEET

08 11 13 - TWO-PIECE GALVANIZED,
PRIMED AND FIELD PAINTED
HOLLOW METAL FRAME. BOLT
FIRST PIECE TO MASONRY AND
ATTACH SECOND PIECE WITH
#6 S.M. SCREWS AT MAX. 12" O.C.
AS SHOWN ON DETAIL.
FILL FRAME WITH GROUT.

WOOD SHIM - 1/4" MIN.

07 92 00 (EACH SIDE)

FILL ALL CELLS 
WITH GROUT

03 30 00.B, #4

FILL ALL CELLS 
WITH GROUT

03 30 00.B, #4

3/8" ANCHOR BOLTS
STAGGER LOCATIONS
WITHIN MASONRY
COURSING AS SHOWN
ON TYPICAL ANCHOR
BOLT LAYOUT THIS SHEET

08 11 13 - TWO-PIECE GALVANIZED,
PRIMED AND FIELD PAINTED
HOLLOW METAL FRAME. BOLT
FIRST PIECE TO MASONRY AND
ATTACH SECOND PIECE WITH
#6 S.M. SCREWS AT MAX. 12" O.C.
AS SHOWN ON DETAIL.
FILL FRAME WITH GROUT.

WOOD SHIM - 1/4" MIN.

07 92 00 (EACH SIDE)

DRAWING NUMBER

ISSUED FOR CONSTRUCTION

REVISIONS

       COPYRIGHT 2018 BY SOUTHERN A&E, LLC.  ALL RIGHTS RESERVED.

THIS DOCUMENT IS THE PROPERTY OF SOUTHERN A&E, LLC  AND SHALL NOT BE COPIED OR 

REPRODUCED IN WHOLE OR IN PART WITHOUT EXPRESSED WRITTEN CONSENT FROM SOUTHERN 

A&E, LLC.

C

UNION COUNTY FIELDHOUSE 
NEW FIELD HOUSE FOR:

UNION COUNTY SCHOOLS

124 HUGHES STREET BLAIRSVILLE, GA 30512

153 PANTHER WAY, BLAIRSVILLE, GA 30512

04-08-2019

BID PACKAGE BASE BID

SA&E PROJECT NUMBER

SCHILLINGER
GREGORY J.

* *

C

C

IFIT

R
E

2

A T E
No.1

6
16

S ATATE OF GEORG
I

R TE
G

I S

T E R E D A RC H

I T
E

C

01-697-027

A401

3/4" = 1'-0"
4

TRAINING ROOM CASEWORK ELEVATION
1" = 1'-0"

6
TYPICAL SECTION - WALL CABINET - W/ BASE CABINET (TWO DRAWER)

1" = 1'-0"
5

TYPICAL SECTION - WALL CABINET AND SINGLE H.C. COUNTER SINK

1" = 1'-0"
7

TYPICAL SECTION - WALL CABINET W/ BASE CABINET (DOORS)

1/4" = 1'-0"
2

ENLARGED FLOOR PLAN 103-105

1/4" = 1'-0"
3

ENLARGED FLOOR PLAN 113-114

1/4" = 1'-0"
1

ENLARGED FLOOR PLAN 106

3/4" = 1'-0"
8

TYPICAL DETAILS - ACCESSIBLE SHOWER W/ GRAB BARS & SEAT

3/4" = 1'-0"
9

TYPICAL DETAIL - TOILET STALL PLAN & SECTIONS
ALL MOUNTING HIGHTS REFER TO SHEET #A601

ALL MOUNTING HIGHTS REFER TO SHEET #A601

ALL MOUNTING HIGHTS REFER TO SHEET #A601

ALL MOUNTING HIGHTS REFER TO SHEET #A601

ALL MOUNTING HIGHTS REFER TO SHEET #A601

R # Doc # Date

1 Revisi
on 2

05/09/19

1

1 1/2" = 1'-0"
10

TYPICAL DETAIL - TOILET STALL
DETAILS

1


	Sheets
	A401 - ENLARGED PLANS & ELEVATIONS


